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10+3=13 11+3=14 12+3=15
10+4=14 11+4=15 12+4=16
10+5=15 11+5=16 12+5=17
10+6=16 11+6=17 12+6=18
10+7=17 11+7=18 1247=19
18 | | 10+8=18 11+8=19 12+8=20
10+9=19 11+9=20 12+9=21

7+3=10 8+3=11
T+4=11 8+4=12
7+5=12 8+5=13
T+6=13 8+6=14
T+7=14 8+7=15
7+8=15 8+8=16
7+9=16 8+9=17
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1+41=2 2+1=3 3+1=4 4+1=5 5+1=6 6+1=7
1+42=3 2+2=4 3+2=5 442=6 5+2=7 6+2=8
1+3=4 243=5 3+3=6 443=7 5+3=8 6+3=9
1+4=5 2+4=6 3+4=7 0 ]. 2 4 44 4=8 5+44=9 6+4=10
1+5=6 245=7 3+5=8 4+5=9 5+5=10 6+5=11
1+6=7 2+6=8 3+6=9 0 1 2 4 4+6=10 5+6=11 6+6=12
1+7=8 247=9 34+7=10 4a7=11 5+7=12 6+7=13
148=9 2+8=10 3+8=11 1 |2 |3 5 4+8=12 5+8=13 6+8=14
1+9=10 2+9=11 3+9=12 4+9=13 5+49=14 64+9=15
1+10=11 2+410=12 || 3+10=13 21314 6 4+10=14 || 5+10=15 || 6+10=16
1+11=12 2+11=13 3+11=14 4+11=15 5+11=16 6+11=17
1412=13 2+12=14 || 3+12=15 31415 1 4+12=16 5+12=17 || 6+12=18
150678

7+1=8 8+1=9 10+1=11 11+41=12 12+1=13
74229 84210 5.6 | ¥ 9 1042=12 || 1142=13 || 1242-14

o | 7|8

71819

819

9

ek
= © 000 NS W~ O =

7+10=17 || 8+10=18 1011112113114 (1511611718119 | |10+10=20 | | 11+10=21 | |12+10=22
7+11=18 || 8+11=19 10+11=21 || 1+11=22 || 12+411=23
| 7+12=19 || 8+12=20 1011112113114 (15]16 |17 | 18|19 | 20 | [10+12=22 | | 11+12=23 | | 1241224 |

TCR 7578 Efaccher Crontod Foscurces
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x9=18
2x10=20
2x11=22
2x12=24

8

§x1=28
8x2=16
§x3=24
8x4=3
8x5=40
8 x 6=48
8 x7=5
8x8=64
§x9=72
8 x10=280
8 x 11=288
8 x12=96
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9x1=9
9x2=18
9x3=27
9x4=36
9x 5=45
9x6=5
9x7 =63
9x8=72
9x 9 =81
9 x10=90
9x1N=99
9 x12=108
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4 x11=44
4 x12 =48

10

10x1=10
10x2=2
10x3=30
10x 4 =40
10x 5 =50
10x 6 =60
10x7=70
10x 8 =80
10x9=9
10 x 10 = 100
10x11=110
10 x 12 = 120
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fx1=1
g2 =22
ix 3 =33
1x 4=44
11x 5=55
11x 6 =66
Ux7=11
11x 8 =88
1x 9=99
11x10=110
11 x 11 =121
11x12=132
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6 x10=60
6 x 11 =66
B x12=T72

12

12x1=12
12x 2 =24
12x 3 =36
12x 4 =48
12x 5 =60
12x 6 =72
12x 7 =84
12x 8 =96
12x 9 =108
12 x 10 =120
12 x 11 =132
12 x 12 = 144
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- Each finger to the left of the curled finger represents 10,
=aay 10,
- Each finger to the nght of the curled finger represents one,
=Lount I, 2, 3,45, 6,7, 8. (Or1i, 32 13, 14,615, 16; 17, 18)
-2x9 =13
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< The 9’s Trick
wWhen you multiply a number by 49:

1. Point to the number that is AxS5=

' NOT 9. t —
|

2. Subtract one from that
i number. Write down the Ax5=4

| difference. This is the first f
digit of your answer.
3. Think: “What can | add to
this number to make 92?” This Ax5=4H5

I number is the second digit of ’
your answer.

The digits in the
. product add up to 9!

® Shelley Gray
www.Tec:ching EnTheEorlyYears.com

Y A 40 6By &Y &Y 4syv 4y $&v




RS tIING S

- -I e —— e —

____________________
~ONOTOON®QOC

XXXXXXX XXX
ON O ONOSONOSONOS OO



